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#include<stdio.h>
int main(void){
OO int i;
OO0 for(i =1; i <=10; i++){
0000 printf(*%3d little ”, [0 0 O );
DoOooif(0o0)
00 0000 printf(”indians\n”);
oo}
00 printf(”indian boys\n”);
OO0 for(i =1; i <=10; i++){
00 00 printf(*%3d little ”, [0 0 O );
00 00000
00 0000 printf(”indians\n”);
oo}
00 printf(”little indian boy”);
00O return O;
k} J
~ ooodo ~
1 little 2 little 3 little indians
4 little 5 little 6 little indians
7 little 8 little 9 little indians
10 1little indian boys
10 little 9 little 8 little indians
7 little 6 little 5 little indians
4 little 3 little 2 little indians
1 little little indian boy
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10004 10500.000000 U
2000 11025.000000 O
3000 11576.250000 [
4000 12155.062500 0
5000 12762.815625 [
60 00 13400.956406 [
7000 14071.004227 [
80 00U 14774.554438 [
o0 156513.282160 [
10000 16288.946268 [
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U cmU 0O 150
U cmU 00190
Uem0OOb5
150cm  45.00kg
155cm  49.50kg
160cm  54.00kg
165cm  58.50kg
170cm  63.00kg
175cm  67.50kg
180cm  72.00kg
185cm  76.50kg
190cm  81.00kg
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[0]bOO0OO (absolute value) |b| O O abs(b) 0000
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go2000b00040a404d -7

307002187000
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go200000040404d :7
=30 700-2187000

go1gdgobooodgd:3
gb200000004a0 :-7
30-700 0.000457 000
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#include<stdio.h>
int main(void){

int n;
printf("200000000000O00O0O00OO™M;
scanf ("%d", &n);

do{

i+=1;

0 }While();
0D f(000)

printf("d 000000 \n", n);
else
printf("d 00000000000 N\n", n);

return O;
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